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Name: __________________________________



1
In scalene triangle ABC shown in the diagram below, [image: image1.png]


.

[image: image2.png]



Which equation is always true?

	1)
	[image: image3.png]




	2)
	[image: image4.png]cosd = cos B





	3)
	[image: image5.png]Cos.






	4)
	[image: image6.png]






2
In [image: image7.png]MABC



 below, angle C is a right angle.

[image: image8.png]



Which statement must be true?

	1)
	[image: image9.png]




	2)
	[image: image10.png]




	3)
	[image: image11.png]




	4)
	[image: image12.png]






3
Right triangle ABC is shown below.

[image: image13.png]



Which trigonometric equation is always true for triangle ABC?

	1)
	[image: image14.png]




	2)
	[image: image15.png]Cos.






	3)
	[image: image16.png]cosd = cos





	4)
	[image: image17.png]






4
In the diagram below, [image: image18.png]ADOG ~ ANCAT



, where [image: image19.png]pde.



 and [image: image20.png]LT



 are right angles. 

[image: image21.png]



Which expression is always equivalent to [image: image22.png]


?

	1)
	[image: image23.png]cos A





	2)
	[image: image24.png]




	3)
	[image: image25.png]tan A





	4)
	[image: image26.png]cos







5
Right triangle TMR is a scalene triangle with the right angle at M.  Which equation is true?

	1)
	[image: image27.png]




	2)
	[image: image28.png]




	3)
	[image: image29.png]




	4)
	[image: image30.png]






6
In [image: image31.png]MABC



, the complement of [image: image32.png]/B



 is [image: image33.png]24



.  Which statement is always true?

	1)
	[image: image34.png]tan ~ 4 = tan £ 5





	2)
	[image: image35.png]sin A = sin 2B





	3)
	[image: image36.png]




	4)
	[image: image37.png]sihZ A = cos ZB







7
If scalene triangle XYZ is similar to triangle QRS and [image: image38.png]


, which equation is always true?

	1)
	[image: image39.png]




	2)
	[image: image40.png]cosR=cosZ





	3)
	[image: image41.png]




	4)
	[image: image42.png]






8
In right triangle ABC, [image: image43.png]


 and [image: image44.png]AC = BC



.  Which trigonometric ratio is equivalent to [image: image45.png]


?

	1)
	[image: image46.png]cos A





	2)
	[image: image47.png]cos B





	3)
	[image: image48.png]tan A





	4)
	[image: image49.png]tan B







9
Right triangle ACT has [image: image50.png]


.  Which expression is always equivalent to [image: image51.png]cos T



?

	1)
	[image: image52.png]cos





	2)
	[image: image53.png]




	3)
	[image: image54.png]tan 7





	4)
	[image: image55.png]






10
In right triangle ABC, [image: image56.png]


.  If [image: image57.png]


, which function also equals [image: image58.png]


?

	1)
	[image: image59.png]tan A





	2)
	[image: image60.png]tan B





	3)
	[image: image61.png]




	4)
	[image: image62.png]






11
In [image: image63.png]MABC



, where [image: image64.png]pao;



 is a right angle, [image: image65.png]


.  What is [image: image66.png]


?

	1)
	[image: image67.png]




	2)
	[image: image68.png]




	3)
	[image: image69.png]




	4)
	[image: image70.png]






12
Which expression is always equivalent to [image: image71.png]


 when [image: image72.png]0° < x < 9(°



?

	1)
	[image: image73.png]cos(90° - x)





	2)
	[image: image74.png]cos(45° - x)





	3)
	[image: image75.png]cos(2x)





	4)
	[image: image76.png]COSX







13
Which expression is equal to [image: image77.png]sin 30°



?

	1)
	[image: image78.png]tan 30°





	2)
	[image: image79.png]sin 60°





	3)
	[image: image80.png]cos 60°





	4)
	[image: image81.png]cos 30°







14
The expression [image: image82.png]sin 57°



 is equal to

	1)
	[image: image83.png]tan 33°





	2)
	[image: image84.png]cos 33°





	3)
	[image: image85.png]tan 57°





	4)
	[image: image86.png]cos 57°







15
In a right triangle, the acute angles have the relationship [image: image87.png]sin(2x + 4) = cos{46)



.  What is the value of x?

	1)
	20

	2)
	21

	3)
	24

	4)
	25



16
For the acute angles in a right triangle, [image: image88.png]cos(3x+ 13)°



.  What is the number of degrees in the measure of the smaller angle?

	1)
	11°

	2)
	13°

	3)
	44°

	4)
	52°



17
In a right triangle, [image: image89.png]sin{40 - x)° = cos(3x)°



.  What is the value of x?

	1)
	10

	2)
	15

	3)
	20

	4)
	25



18
If [image: image90.png]sin(2x + 7)° = cos{4x - 7)°



, what is the value of x?

	1)
	7

	2)
	15

	3)
	21

	4)
	30



19
Find the value of R that will make the equation [image: image91.png]


 true when [image: image92.png]0° ¢« R < 90°



.  Explain your answer.

20
In right triangle ABC with the right angle at C, [image: image93.png]sind =2x+0.1



 and [image: image94.png]Cos.



.  Determine and state the value of x.  Explain your answer.

21
Explain why [image: image95.png]cos(x) = sin(90 - x)



 for x such that [image: image96.png]0<x <90



.

22
Given:  Right triangle ABC with right angle at C.  If [image: image97.png]


 increases, does [image: image98.png]cos B



 increase or decrease?  Explain why.

23
When instructed to find the length of [image: image99.png]Hr



 in right triangle HJG, Alex wrote the equation [image: image100.png]sin2ge =



  while Marlene wrote [image: image101.png]cos 2o = 22



.  Are both students’ equations correct?  Explain why.



[image: image102.png]
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[image: image104.png]ap - 57
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[image: image105.png]2x+4 +46 = 90
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[image: image106.png]4x+3x+13= 90
Tx=1T7
1




  [image: image107.png]A(11) < 3(11) + 13
44 <46
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[image: image108.png]40 - x+ 3x = 90
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[image: image109.png]2x+T+4x-7=90
6x=90
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19
ANS:


[image: image110.png]73+R=090
R=17



  Equal cofunctions are complementary.
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20
ANS:


[image: image111.png]Ax—.07= 2x+.01
@=08
4




  [image: image112.png]SinAd



 is the ratio of the opposite side and the hypotenuse while [image: image113.png]cos B



 is the ratio of the adjacent side and the hypotenuse.  The side opposite angle A is the same side as the side adjacent to angle B.  Therefore, [image: image114.png]


.
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21
ANS:


The acute angles in a right triangle are always complementary.  The sine of any acute angle is equal to the cosine of its complement.
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spr1407geo

22
ANS:


[image: image115.png]cos B



 increases because [image: image116.png]24



 and [image: image117.png]/B



 are complementary and [image: image118.png]


.
REF:
011827geo

23
ANS:


Yes, because 28º and 62º angles are complementary.  The sine of an angle equals the cosine of its complement.
REF:
011727geo

